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1. Introduction

The aim of this paper is address potential interoperability problems when closed loop mode 2 tx diversity and compressed mode are used simultaneously. Problems are due to the long feedback signalling message and how the last sent FBI from UE before transmission gap is interpreted in node B.

2. Discussion
Figure 1 describes the case where downlink is in compressed mode and uplink in normal mode and transmission gap is between slots 5 and 7. The first problem comes from the issue how node B interpretes last sent FBI from UE to node B i.e is the FBI from uplink slot number 3 or 4 used in node B. This is left unclear in the specification. In addition, this ambiguity in the specification results clear problem for UE implementation and performance viewpoint. On the one hand, if UE assumes that FBI from slot number 3 is used and on the other hand if FBI from slot 4 has been used in node B this results at maximum phase difference error 3/4(. Due to the long feedback signalling message this affects over four consecutive slots and results a clear performance deterioration to UE. Moreover, when CPICH aided channel estimation and verification is used in UE this introduces severe performance degradation.

3. Conclusions and way forward

In this paper we have identified potential interoperability problems when closed loop mode 2 tx diversity and compressed mode are used simultaneously. Problems are due to the long feedback signalling message and how the last sent FBI from UE before transmission gap is interpreted in node B. Especially, this problem is severe when CPICH is used as a basis for channel estimation in UE. 

There is two possible ways how to solve this problem. On the one hand, node B behaviour should be described thoroughly when closed loop mode 2 tx diversity and compressed mode are used simultaneously. On the other hand, if this is considered to be too late for R99 then the use of this combination should be limited. Our proposal is the latter one.
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Figure 1. Closed loop timing adjustment mode = 0, uplink slot Nlast+1 (modulo 15) occurs at the beginning of FSM period.
_1079438624.unknown

